SOLAX SOLUTION

Wdo ZERO OUTPUT!

—— B T

4 2 kW
=P 0 kW
] g 2.5kW =—b —> okw [ L
2.0kW SOLAX
7kW 1kW 2.5kW
- v | ! METER
I (111 0 . “«
B = = ani SolaX X3-Hybrid has “Three-phase
i E'L"L = unbalanced” output function, which
- — can achieve zero output
OTHER SOLUTION
15kwW I
Zero output function FAILS !
" v —s A %
L0k AW —p — 3 kW @ —b 3 kW
J Oy KW —D —1.5 kW —b1.5 kW
- 1B METER
2.0kW
1kw 2.5kW
e \4

| R Other Energy Storage Inverter has NO “Three-
| E,L phase unbalanced output function, which Can
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